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7|1zt 3.1 2.28 SE(bp) AHx Alg a2
o O] IA2&E : 3= 11.4bp |, 54& 12.4bp |, 104= 9.7bp |
2y 1.343 1434 A91 0.770 O] 714, 2{Aloh-LA2to|L} YOl K&, MU=S0| 2{A|0F M7+ ZehX|HA HH A

Mz Y2l 55
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% Swap spread : (2Y) 13.56(-3.45), (3Y) 8.41(-3.24), (5Y) 7.26(-2.26), (10Y) 7.48(-1.69), (30Y) -24.15(-2.93)

bR U S A FHAEE (bp)

gARAESE g A FE=E 3.1 2.28 SE(bp) i
HE (Aa2/AA) '31.10 T10+25 1.750 T10+33 (S+50) T10+30 (S+47) +3.0 T10+18 (S+37)

> CDS Spread(5'd, bp)

AT ESE 3.1 2.28 2L H| (bp) Ax A X H|(bp) XA fnks]
HE (Aa2/AA) 31 31 - 21 +10.0 27 31
KEXIM (Aa2/AA) 31 29 +2.0 22 +9.0 21 31

X X2 5L HE 5y CDS : XA '21.09€ 17.455 / X311 '17.098 75.82 (L Z|11X| '08.108 692)
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=)l - M2 EO AlOF A ol 0
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W/E 1,343.42 A0.2 20.2% KOSPI R - -

WY 10.46 +0.1 +1.1% SHCI 3,489 +26.5 A3.6%

CNY/U$ 6.3119 +0.0 A0.7% HSI 22,762 +48.7 A2.7%
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